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print(‘#ARE R ERIT ERVE N ERER » HFF RS H R EE A T#')
print()
def LoanPayment(a,b,c):
d=a/((1-pow((1+(c/1200)),(-b*12)))/(c/1200))
print()
print(TZ BRUEHV SRR S R 6 H IEBEEHTA B2 &' format(d,',.2f'),'7T")
print()
i=eval(input("TRAEE[E FHEFTE 1 BEBAESTZ 0
if i==1:
print()
main()
else:
print()
print(‘SHHHEE AT )
def main():
print('GEHKHE DL NIFFY » T AEEK AR S B
a=eval(input('1. &4 /i\ﬁﬁ(%fbm =)
b=eval(input('2. 55 Z'ﬁiﬁﬁz
c=eval(input('3. 5% E%U?(Wﬁn FHIA 2.53% > FHEm A 2.53) 1))
LoanPayment(a,b,c)
if _name__=='__main__"

main()



